

James Reckitt Avenue | Kingston Upon Hull | HU8 0JD
Tel: 01482 374211 | Fax: 01482 707642 | enquiries@maletlambert.hull.sch.uk
www.maletlambert.co.uk



Headteacher: Mr P. R. Sprakes

Traditional Values

Contemporary Aspirations

Creative Curiosity

ML.23.24.0007.ADR 2023/2024

Dear Parent or Carer

We are delighted to be in the position to continue to offer music lessons with teachers from the Music Service, in school. We are pleased to confirm also that the school will continue to subsidise the cost of these lessons to reduce costs for parents and there will be no increase in costs this year. The lessons on offer are:

Cello	Drums / Percussion	Guitar	Trumpet
Clarinet	Euphonium	Piano	Tuba
Cornet	Flute	Singing	Ukulele
Double Bass	French Horn	Trombone	Violin

Each child will receive a minimum of 30 lessons which are approximately 20 - 25 minutes in length

The cost of lessons for the year 2023/2024 will remain at £210.00. As the lessons are very much sought after, we need to ensure that each child has the full backing of their parent/carer and we request a £70.00 initial payment to be paid to secure their place. In comparison, if you were to pay for private tuition outside of school the cost to you would be approximately £17.00 per lesson, whereas lessons at school are approximately £7.00 per lesson.

Please note that should payments not be made on time, we will stop your child's lesson. If there is any reason why payment cannot be made please contact the school to discuss as it can be uncomfortable to both the child and staff member should they have to turn a pupil away due to none payment.

Attached to this letter you will find our Terms of Service. The Payment Schedule is shown on the reverse of this page. If you are in agreement to your child taking part in music lessons, please ensure you have fully read the Terms of Service and return this to the music department who will check availability with the music service.

As we are a cashless school, payments can only be made through ParentPay, any new pupils will be provided with their ParentPay activation letter within a few days of starting at Malet Lambert.

Yours faithfully

Kathryn Wilkinson (Mrs)

L'Wilkinson.

Head of Music





Malet Lambert Music Lessons Payment Schedule Year: 2023/2024

If your child has started part way through the year, all of the sections on the Terms of Service still apply, however the payments are detailed in the chart below:

Start Date (Wk End. Fri:)	Total Cost	Deposit	Remainder after Deposit	Number of Instalment	First Instalment Amount	Due to be paid by the end of:	Second Instalment Amount	Due to be paid by the end of:
15.09	£210.00	£70.00	£140.00	2	£70.00	NOV	£70.00	APR
22.09	£210.00	£70.00	£140.00	2	£70.00	NOV	£70.00	APR
29.09	£210.00	£70.00	£140.00	2	£70.00	DEC	£70.00	APR
6.1	£210.00	£70.00	£140.00	2	£70.00	DEC	£70.00	APR
13.1	£210.00	£70.00	£140.00	2	£70.00	DEC	£70.00	APR
20.1	£210.00	£70.00	£140.00	2	£70.00	DEC	£70.00	APR
27.1	£210.00	£70.00	£140.00	2	£70.00	DEC	£70.00	APR
10.11	£210.00	£70.00	£140.00	2	£70.00	JAN	£70.00	APR
17.11	£210.00	£70.00	£140.00	2	£70.00	JAN	£70.00	APR
24.11	£204.33	£70.00	£134.33	2	£67.17	JAN	£67.17	APR
1.12	£198.66	£70.00	£128.66	2	£64.33	JAN	£64.33	APR
8.12	£192.99	£70.00	£122.99	2	£61.50	FEB	£61.50	APR
15.12	£187.32	£70.00	£117.32	2	£58.66	FEB	£58.66	APR
22.12	£181.65	£70.00	£111.65	2	£55.83	FEB	£55.83	APR
12.01	£175.98	£70.00	£105.98	2	£52.99	FEB	£52.99	APR
19.01	£170.31	£70.00	£100.31	2	£50.16	FEB	£50.16	APR
26.01	£164.64	£70.00	£94.64	2	£47.32	MAR	£47.32	APR
2.02	£158.97	£70.00	£88.97	2	£44.49	MAR	£44.49	APR
9.02	£153.30	£70.00	£83.30	2	£41.65	MAR	£41.65	APR
23.02	£147.63	£70.00	£77.63	2	£38.82	MAR	£38.82	APR
1.03	£141.96	£70.00	£71.96	2	£35.98	MAR	£35.98	APR
8.03	£136.29	£70.00	£66.29	2	£33.15	MAR	£33.15	APR
15.03	£130.62	£70.00	£60.62	1	£60.62	APR	£0.00	N/A
22.03	£124.95	£70.00	£54.95	1	£54.95	APR	£0.00	N/A
12.04	£119.28	£70.00	£49.28	1	£49.28	APR	£0.00	N/A
19.04	£113.61	£70.00	£43.61	1	£43.61	APR	£0.00	N/A
26.04	£107.94	£60.00	£47.94	1	£47.94	APR	£0.00	N/A
3.05	£102.27	£60.00	£42.27	1	£42.27	JUNE	£0.00	N/A
10.05	£96.60	£50.00	£46.60	1	£46.60	JUNE	£0.00	N/A
7.05	£90.93	£50.00	£40.93	1	£40.93	JUNE	£0.00	N/A
24.05	£85.26	£50.00	£35.26	1	£35.26	JUNE	£0.00	N/A
7.06	£79.59	£50.00	£29.59	1	£29.59	JUNE	£0.00	N/A
14.06	£73.92	£50.00	£23.92	1	£23.92	JUNE	£0.00	N/A
21.06	£68.25	£68.25	£0.00	0	£0.00	N/A	£0.00	N/A
28.06	£62.58	£62.58	£0.00	0	£0.00	N/A	£0.00	N/A
5.07	£56.91	£56.91	£0.00	0	£0.00	N/A	£0.00	N/A
12.07	£51.24	£51.24	£0.00	0	£0.00	N/A	£0.00	N/A

Malet Lambert Music Lessons Terms of Service Year: 2023/2024

- upii itaine.	Instrument:	Tutor Group:
Malet Lambert		
Through the Music Serv	ice we will provide each child with:	
A minimum of 3Each lesson willA subsidy of the	be approximately 25 minutes in length	
Parent/Carer		
As parent/carer I/we wi	II:	
Support our chiAdhere to the p	ld's learning ayment terms set out below	
<u>Pupil</u>		
Whilst being provided v	vith lessons, I will:	
	music lessons ne school's musical events ordingly with school expectations	
Payment Terms		
 A deposit of £70 A further 1or 2 Any account for the account is b Unless there is regardless of w 	or music lessons for the year of 2023/2024 is a common of the paid to secure a place. It is secure to be made, see revenued to be in arrears will result in lessons being the rought up to date. a fault of the school/music service, full payments the child attends all lessons and/or stay child starting part way through the year are	erse for details. g cancelled with immediate effect until nent for the year must be made tops lessons part way through the yea
We agree to all of the T	erms of Service as detailed within this docur	ment:
Signed:	Name:	Date:
Signed:	Name:	Date: